
' a Canadian f.eceral tax surtharçe is levied on oersonal
incor..e e4uilvaient' to the dirac: loss of cLstc-is revenues,

^ E^.: i n i•r,`::'e !.nt : ` ^cc: :arc°_: in
4- - r a as i n Z^e_ Zas; z3se.

' and tne excnange rate reacts encogencusly.

2. Non-tariff Barrier iniact (CASE Ii)- This case assures:

• a Canadian reductjon c' nor-tsriaf barr'ers,

a reductfon of United States non-tarif; barriers,

. and the same private and public sector .pri çe , fi scal, and
monetary reactions as in trre case aCOve.

3. Cor:tined Immact of Tariff and Non-Tariff 3arrier Recuction---.^, -
(C.. Sz iii)= ^nzs case cambineassur:o:icns of tne
previous two cases.

4. Co:nb9ned Imoact of Tariff and Non-Tariff Barrier Re^±uçtion
wi th irzcrcveo Ret^rr^s to Sca se (CASE IV)- T IM assumes
constant returrts to seale of proeuction; tr^us, while caaie,.a1
and e... ioy^rent requirements change in the above :hree cases,
these are resoonsi-ve to cyclical, relative pr'.:e, and ?,.,oticy
c°ançes exclusively. To corrensa6e for ozis aSSb=tiofi a-,
the mode?, this case, which we treat as the main ',crnact case
for ^urroses of descript`on, assu.,es:

I? C..Ss". III assumpt ions

^'nere are selective positive execencLs c:nanÇ°5 eo
industry i nves tmen t as the Reclan i sm tna t cor°:ani es use
to introduce new production processes, and

V there are disembocled te_hnolagy benefits in the fam of
direct ecnIIl ayrtten t reductions per uni t of cutout. It i s
assurned that ttti s process i s ac:°fievec In 19ES-?,cc7,

►he vrovlncja] in act3 of ti,i S case are re,oorzea.

5. Immact Ir L'ni _ed States '^^rsues P:^Gtecti0ni st "al icies (C;•SE
777nwhis case, it is assume4 tnat the Uni .ea States
in:;-iduces increased protectiQnism in 1388-2005, equivalent
ta a tari ff ircrpase that woul d rai se the United States
tarifr level to three times higi-_r than that wiricn currently
prevails. This Is equivalent to a little more tnan a 10 per
cent imaor: surcharge. This reduced Uni;ed Sta:as economic
activi and Canadian econo7iz' activj ty resooncs

^ IuiO=e:rica
w=[K
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